Name: 2-Digit by 1-Digit Multiplication

( The Exercising Cow

Multiply to find the product.
Then solve the riddle by matching
the letters to the blank lines below.

Al 29 E] 32
x 6 x 9

1) 70 (S] 87

Preview

Please log in fo download
the printable version of this worksheet.

H 20 Al o7
x 3 x 9

Why did the cow do jumping jacks?

Because she wanted to -
/5 531 126 288 174

600 280 124 445 522 60 369 294 212
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ANSW E R KEY 2-Digit by 1-Digit Multiplication

C The Exercising Cow

Multiply to find the product.
Then solve the riddle by matching
the letters to the blank lines below.

Al 29 (E] 32

x 6 x 9

174 288
1 70 sl 87

Preview

Please log in fo download
the printable version of this worksheet.

H 20 Al o7
x 3 x 9
60 531

Why did the cow do jumping jacks?

Because she wantedto _M A K E A
/5 531 126 288 174

M [ L K S H A K E .
600 280 124 HH45 522 60 369 294 212
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